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DB, m
Plane ABE
A, B, C
A, B, C, E
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RP
QP, QR, QT, QS
QT and QS; QP and QR
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AB = 3 – (-1) = 4
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CD + DE = CE
CD + 17 = 42
CD = 25
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XY = 3 – (-5) = 8
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PQ = ½ PN
22.6 = ½ PN
PN = 45.2

5x-2 = 3x+8
2x-2 = 8
2x = 10
x = 5
ST = 3(5) + 8 = 23
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((7+-5)/2, (-2+-6)/2) = (1, -4)
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(5, 8) = ((x+2)/2, (y+-3)/2)
x-coords: 5 = (x+2)/2  10 = x+2  x = 8
y-coords: 8 = (y-3)/2  16 = y-3  y = 19
(8, 19)
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PQ = √((-4 – 2)2 + (8-5)2)
PQ = √((-6)2 + (3)2)
PQ = √(36 + 9)
PQ = √45 = 3√5 ≈ 6.71
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DEC = 90 right
DEA = 180 straight
CEB = 25 acute
DEB = 115 obtuse
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PQR , PQS, RQS ; PQS is a right angle .
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2x-9 + 3x+6 = 72
5x-3=72
5x = 75
x = 15

mRSP = 2(15) – 9 = 21
mPST = 3(15) + 6 = 51
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T  S, P  R

mPTS = 121, mQPT = 84
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Both the pairs are supplementary
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Complementary: FGK and GKL
Supplementary: HGK and GKL
Adjacent: FGK and HGK

No, they do not have a common vertex
No, they are inside of each other
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8 + x = 90  x = 82
117 + y = 180 = 63
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(4x – 2) + (9x + 1) = 90  13x – 1 = 90  13x = 91  x = 7 
mLMN = 4(7) – 2 = 26
mPQR = 9(7) + 1 = 64
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No, no 2 of them form straight lines

1 and 4, 2 and 5, 3 and 6
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x + 3x = 180  4x = 180  x = 45  angles are 45 and 135
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You get a Polly gone
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Regular quadrilateral
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2x-14 = 3x-75
-14 = x-75
61 = x
Angles are 2(61) – 14 = 108
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Rectangle: A = 13(5.7) = 74.1 m2; P = 2(13) + 2(5.7) = 37.4 m
Square: A = (1.6)2 = 2.6 cm2; P = 4(1.6) = 6.4 cm
Circle: A = π(2)2 = 4π = 12.6 yd2; P = 2π2 = 4π = 12.6 yd
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The height is perpendicular to the base, so it hits EG at (1, 3).  Distance from (1, 3) to 
(7, 3) = 6

Perimeter: find the lengths of each side
EG = 4
FG = √((7-1)2 + (3-2)2) = √(36 + 1) = √37 = 6.08
EF = √((7-1)2 + (3-6)2) = √(36 + 9) = √45 = 6.71
P = 4 + 6.08 + 6.71 = 16.79

Area: ½ (4)(6) = 12

No, the area would be four times as big
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A = ½ bh
64 = ½ b (16)
64 = 8b
b = 8
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